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(i) 3G Y97 9T HI T YFT, Y7 37 3K YFT &, § Fier T & | 39H 3 Ir & g &
I forad & 1

(i) @4t yeT SAarE & /

(iii) QI¥T-97 G 1551 397 & FIE 997 919 787 & |

(iv)  T9H YIT 37 3K Y71 & & TH Fe9] & I GIF-JIF 9T & IR T forgd & |

W) HTHFYTGET1 83 3 I TH-UF 3H & & | 379 I Uk Jeq IH9d] Uk
FFTH I/

(i) YT HF FFT LI 4 T 6 P 97 51-31 Al & & | 399 I T 30 Vgl 7 37
g1

(vii) N7 3T & Y97 G&IT 7 G 18 & ¥¥7 -7 Hl & 8 | 399 I TTHT 50 Vgl 7
G &1

(viil) 97T 37 & Y97 G&IT 19 T 24 3 F97 Gi9-Ti9 37H] & 3 | 379 I TTHT 70 9155 7
G &1

(ix) 97T § % 397 &7 25 T 33 3 Fo JANIHF FIA T ARG Tglahetd 5o7 & |
% Y97 U 3F H1 & | U T IR fadbeql § @ 379l FIT U qad I9PE
fasey 7T 8 |

(x) U § & J97 G&IT 34 T 36 P I FINTIcHS HIVIcT W HTERT 31-31 37h1 & Fo7
gl Imarmaai s

General Instructions :

(1) The question paper comprises two sections, A and B. You are to attempt both
the sections.

(it)  All questions are compulsory.

(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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T 3
SECTION A
1. 39 g9 Uit o a4 el o H-gH fafagu feehr sehmfcres g
— CHO? | 1

Write the molecular formula of the first two members of the homologous
series whose functional group is — CHO.

2.  HHGl H 3F 3 1 A fARGT S (1) T S hIfSrept, W (ii) ATET ST HITehT
39T BT 7 | 1

Name the organ in humans which produces (i) male germ cell, and
(i1) female germ cell.

3. gl 1 Wepfeh I <l =t SIS | 1

List any two natural ecosystems.

4. Ffafaad sm@ =t o IT-gfeds W it wafdd fomr 1 g ey |
Y TG W TG hIU (£ i) 3T Wedd HIv (£ 1) H 3Afrd Hifvw | 2

T~
]

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

T~
]

5. O ad &l ‘N9 fafagar @ fafdre Ta@” w9 9= S1ar g ? U B3 4 U™
gATT Sk g I STtk o IR -5 o Ja-od H JHTE! ANGH ¢ Hehal
7| 2

Why are certain forests considered “biodiversity hot spots” ? Suggest any
two ways in which an individual can contribute effectively to the
management of forests and wild life.
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Sfiaret $eHt 6 g8 % IUTGH hT T TIST | I ITGT S TATSI T Bli-ehlich
TTE T Ieoid hiTT |

List the products of combustion of fossil fuels. State the harmful effect of
these products on the environment.

fopet T Y TemTY] T 191 |

(a) 39 o< o1 Soeeieh (o= foree o8 fuifa i o6 () 30 o
TSRl T 8, QAT (ii) I I8 ded €1g 3 31T 34T |

(b) 38 O o ATFES Hl g foAfEu |

(¢) @ I8 awd Na (W] & 11) sl gan o 3ifees srfufsramsfiar 2
e 9 Iffsharsiier ? o I Y I afga giee Hifvu |

The atomic number of an element is 19.

(a)  Write the electronic configuration of this element and determine
(i) the valency of this element, and (ii) whether this element is a
metal or a non-metal.

(b) Write the formula of the oxide of this element.

(e) Is this element more reactive or less reactive than Na (atomic
number 11) ? Justify your answer giving example.

fopelt otrad Wl § aeai o arfiehtur o ot wRwTY] geaw Rt o H W]
TEAT ! ATk ITYh Trad FA T SATAT § 2 IMEeh Aad anelt 7 (1) fepedt
ad § T8 TR ¥ ¢ 3R I W, AR (i) fre oy # W @ =9 91 W
qedl 1 difcash @&T0 fohE SRR IiEfd BIaT & 2 3794 AU <hl hRUT Afgd gfe
SHINT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

st o1 1v-ga foflan, oft sueht dwem difuu | arfernt & &9 # 39 <) on
o1 gl 10 P mEEi A S A A e
Write the molecular formula of benzene and draw its structure. List in

tabular form the two properties in which covalent compounds differ from
ionic compounds.
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10. U1 od BU SATEAT HIFT foh UHT /T 2 foh e 7 a1 C4+ oA SF1 Gehel B
3R T & C4~ RO 1 Tohell &, Trg I8 FgarStt JMfieh SH1aT B S foega 6
FaTAS B 7 AR fomept f Teie R et sraemTes BT ® | 3
Explain, giving reason, why carbon neither forms C** cations nor
c4- anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

11. forell 75 TR % 3gWa | TR fohegl diF el sl oI SHIST 3R T
1 gftrerr 1 38 fawa & 3g@ i | 3

List any three factors and mention how they could lead to the rise of a
new species.

12. 91 4 faedi gray @iee 1 el a4 fafermi =1 goiq hifso | 3

Describe any three methods of tracing evolutionary relationship amongst

organisms.

13. Shen ® fafimar foem yoer 3cag gl 8 2 “Raftmar wfisfiis hi Saesiifadr AT
@ T Iwf 7 1”7 39 e <t gfsd fopelt Igreer St wEmmEr @ Hifu | 3

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

14. TT%ewad F1 7 ? forell vk g w1 Iereor e S g8 ufskan i qwiar @ o
T a1 59 ka1 i T8 quial g | 91g dTel SAal § gAegHad w1 Ag g 2 3
What is regeneration ? Give one example of an organism that shows this
process and one organism that does not. Why does regeneration not occur
in the latter ?

15. TGl 1 ] ? 59k ¢ Yg@ HE i 9viF hIfAT | 3
What is placenta ? Describe its two major functions.

16. forelt <im gro s wfafors 1 smadq - 1 g | 3fe vfafora 6 <@ & yehifses
%5 8 gl 35 cm 7, @ fora el foud 8 2 39 o9 i wohid 3T e gl =
2 2 3fe fora il 9 & THIIRF g Sl 3R 20 cm TAFFARG X feam S, ot
SfleFsl gl ST 3R $Eeh! Thid a1 BRT ? 319 I 1 gfed o T fomom
3@ T | 3
The magnification of an image formed by a lens is — 1. If the distance of
the image from the optical centre of the lens is 35 cm, where is the object
placed ? What is the nature and focal length of the lens ? If the object is
displaced 20 cm towards the optical centre of the lens, where would the

image be formed and what will be its nature ? Draw a ray diagram to
justify your answer.
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TR T YEhIUH T 3 ? 3 UNEeAT Sl TEREAl ¥ AR HIfT fob taee
TR 1 TT et o FAIeT o 999 I TN F1 Jdfid gl & |

What is scattering of light ? Use this phenomenon to explain why the
clear sky appears blue and the sun appears reddish at sunrise.

YT HTATS i Ted & I8 I off o6 wati o W@ (@) aft & fofw s

TSR B & | T g 381 TH=R-u | I Uel o aT9R # 3ucey $®

FUET o Bl b W H S W doh HISHATA UTT TT | 9 AR I8 D &l

TS, Tt figshmft FAR waTEed & e g1t 8 § |

(a) 319 IO AIATSH 1 BT TSR GRT Bl o L@l hl TGAd AT
forer ehR THETE 2

(b) T hel a1 B o a8 TR drgsharelt gAR 1eEn o= S % IR A
WAV ek Tfed BId T & SN Tk W § 3Afush g9 W OgHR S
Hiqued ek B Ugdld & | 38 GREeAT ®1 AW IR 36k fowa #
fafeu |

Your mother always thought that fruit juices are very healthy for

everyone. One day she read in the newspaper that some brands of fruit

juices in the market have been found to contain certain level of pesticides

in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b) It is said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.

I H o TH W T gl (w) o W Sfferegl (v) % =R i gRid A
frfaRaa Yeror arferert w1 farzeiwor i ot afterer fopg fom & fmfofaa
T % IR AT

Fa | fwagh | seeagd
g u (cm) v (cm)
1 - 60 + 12
2 -30 + 15
3 - 20 + 20
4 -15 + 30
5 —-12 + 60
6 -9 +90
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(a) I 8 I BIE g Tohal @ 2 319 I o forw wror i |
(b) a8 feragll (w) Ta IR e qeedt sfaferaght (v) @& 761 8 | 98
s 3mae fopm yehR fArepTa 2
(c) I3 ¥t ITYH AT AR T T 4 & o7 fopor em@ Eifau oik
JATFYT T AW T 1A 1T, |
Analyse the following observation table showing variation of

image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

3. No. Object-Distance | Image-Distance

u (cm) v (cm)

1 - 60 +12

2 -30 +15

3 - 20 + 20

4 -15 + 30

5 - 12 + 60

6 -9 +90

(a)  What is the focal length of the convex lens ? State reason for your
answer.

(b)  For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

(c) Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

20. (a) T YU % Hey # frfaRaa ugr <t uftm &S .
O g
(i) oSkl g
(iii)  shal BT
(iv) H&I &
(b) (i) T9a« gUUl, N (ii) 3T GUYUT o H&I BIhd i &I % g fortor
I difem |
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frfafiaa Mm@ °@, MM’ i3 37ddd cUUT & 991 AB g fore 8| 39
fora &1 yfdfors 591 quia & fofe ot S-gfeas w fomor sm@
it | 5

W

=Rl N R

Define the following terms in the context of spherical mirrors :
) Pole

(ii)  Centre of curvature

(iii) Radius of curvature

(iv)  Principal axis

Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (ii) a convex mirror.

In the following diagram, MM’ is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

\
;

MI

W >

e 99 & fefafad e am &1 w1 e .
(i) oI

(i)  gRaTieRt

(i) ~ fopeeetta (efimm) <im

(iv) gemmef ofsm

(v) e
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(b) I3 ARE 1 m ¥ A gl W feua fawail o1 awe 781 <@ uran | 98 e
gfe g @ difsd } 2 36 gfic Q9 1 Frw 3N WS | g TE

| g2+ < foTg fopor s Eifem | 5

(a)  Write the functions of each of the following parts of the human eye :
) Cornea
(i)  Iris
(i1i)  Crystalline (Eye) lens
(iv)  Ciliary muscles
(v)  Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams
to illustrate the cause of the defect and its correction by suitable
lens.

22. TEX 9 BId & ? T&U <kl fohd YohR SR ST & 2 B ot SAfufsean v
e Tl ffaw | o giaT 8 99 IS TR HifeaH E3gigETss & el
rfrfshan et 8 2 39 Tk o1 TETAfe AHieRtor, 19 3R 39 fafET | 5
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with
sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

23.  THferl AR IWAfT i 1 Teh-Th ITE1 AT | G40 | B el T h
T YR o st faved T | 9= grar 8 STa i WYl TRl IWh afdesn
T UEE A1 2 ? VSRR H Sl i dek B At gensi o aR H faRay | 5
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

24, SARY F1 B g ? SHAd hE YR §9d & AR Sl Y &1 g fhm
JehT Toram STaT @ 2 99 e o 3teaeH d Siamedl o T8 ol Joai@ hIfST | 5

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.
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SECTION B
25. THfaRad § 9 9SG 3T 1 9= AT
(A) IHTeE % U9 3R faacht & v
(B) e o U@ 3N IHES & 4@
(C) faaeh & 9@ MR Ham & 1@
(D) e o YU, M & IWUE JN fBUhel & WITE
Select a set of homologous organs from the following :
(A)  Wings of a bat and wings of a butterfly
(B)  Wings of a pigeon and wings of a bat
(C)  Wings of a butterfly and wings of a pigeon
(D)  Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard
26. i § gpo i Uik o fou ffaifaa el o @ @&t shem/weMt @i g
I. S IR g AT M Tafd wifEmeeed ¥ fowrfoa gt g iR I&t
I 1 AfCdcd THTT g1 14T 2 |
II. 3o dieffehd shrgeh Q1 AT 31T Tafd shrgeni § fawTiora ram & |
III. SH% S o fohell fomiv & § IS gobet WA 8 |
IV. % & & T B o 99aTd Gohel QU1 fohfsa ekt 7 ¥aad Sia &+
ST g |
(A)  had I (B)  had III
(C) ohad IR III (D) ohad I R IV
Choose the correct statement(s) on budding in yeast from the following :
I. A parent cell divides into two or more daughter cells and here the
parent identity is lost.
I1. In this the elongated nucleus divides to form two or more daughter
nuclei.
III. A bud arises from a particular region on a parent body.
IV.  After detaching from the parent body the bud grows into a new
independent individual.
(A)  Tonly (B)  III only
(C) II and III only (D) III and IV only
31/2/2
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27. et B &l HI3 Y16 Ik @ 718 2 fFEeh wiww gl a7 gd % ufdrerd &1
i & feRn H 3W e W 24 om g W O 96 W BIhd ek TG HdT
2 | 39 gt % 91 H HEl Hed gy | 1

(A) 12 cm %Y G I IAA G4
(B) 24cmm§°fqﬂ3ﬁﬁﬁ'€
(C) 24cmqﬁw@waqaaaaq‘m
(D) 12 cm BIHE g H1 I TF

An optical device has been given to a student and he determines its focal
length by focusing the image of the sun on a screen placed 24 cm from
the device on the same side as the sun. Select the correct statement about
the device.

(A) Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 ¢cm
(C)  Concave mirror of focal length 24 cm

(D)  Convex lens of focal length 12 cm

28. Whid % TId ¥ TERA Tt Tehrer fohtor o1 vy smflea o & fore f=fafea o

T garad YR Saedn giHv 1
I il I v

A I

B) II

(C) II

(D) 1V
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Select from the following the best experimental set-up for tracing the
path of a ray of light through a glass slab :

e
/

I IT IT1 I\Y
A 1
B) I
(© I
D) IV

29. o 9 fRE SO@ ofE g Tk ey e, fyEeh omhfa e @ W R, %
iferes 1 9 W BRI E, A1 0 S st e e

27 1
/AN
\1%4 \1%4
(A) (B)
(C) (D)
AN AN
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When you focus the image of a distant flag, whose shape is given bélow,
on a screen using a convex lens, the shape of the image as it appears on
the screen is

AN
W N4
(A) (B)
©) (D)
A\ A
30. fmfafga M@ d w9 9 v gt Aferd fory U 8 2 1

A) | (B) “had Li3R LA
(C) /i, /r3IN LA D) /i, /A3 /D

In the following diagram, the correctly marked angles are

A Al (B) OnlysZiand LA
(C) ZLi,Zrand LA D) Zi,ZAand £ZD

31/2/2 13 P.T.O.
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31. Ifg 319 forelt et § $B g I <okl ITH d0H AT | UHifesh 3
g i o 31 fagmn st vefl-wifa e 3R 5 999 % g 38 Wl
vg W oA faemmu-gamme @ <, af T 5 fiee uwarq o1 R Ser it ?

(A)
(B)
(&)
(D)

UHifesh T sl WA T I hl T |

IS LT TETA! hl qell WIS W R |
Wl 8 TTEH 8 & e Hed ® § |
el | s, TTEH IRl foeeH &9 T 7 |

If you take some distilled water in a test-tube, add an equal amount of

acetic acid to it, shake the test-tube well and leave it undisturbed on the

test-tube stand, then after about 5 minutes, what would you observe ?

(A)
(B)
©)
(D)

There is a layer of water over the layer of acetic acid.
A precipitate is settling at the bottom of the test-tube.
Bubbles of colourless gas are coming out of the test-tube.

There is a clear, colourless transparent solution in the test-tube.

32. Tr=fcfea armft & ag==i § 9 forgert ST | 9 | foRam S That 8 2

(A)
(B)
©)
(D)

Fi9 =1 a1 R Hfcaaw gzgiFaTse
WS 1 dl AR HIfSIH BTEgiaTss
QS ddt 3 Aifead gEgiaaTss

i =1 d IR WY gegieETss

Which one of the following sets of materials can be used to prepare soap ?

(A)
(B)
(®)
(D)

31/2/2

Neem oil and calcium hydroxide
Castor oil and sodium hydroxide
Mineral oil and sodium hydroxide

Neem oil and magnesium hydroxide

14
Downl oaded From : http://cbseportal .conf Courtesy :

www chsaportal com

CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal . conl

[ CBSE

www chsaportal com

33.  3TYeh! JATENE H R Il aH < fofw st T g | f=fofea aaon & aug
H 9 39 ggg I g, o fret ft 1 @au @l o9 oTga ST H Hietet

AR T UTd L Fhd & |

(A) NaCl; NaySOy4; KC1

(B) NaCl; CaCly; KCI

(C) CaCly; CaSOg MgSO,
(D) NaySO,; CaSOy MgSO,

You are asked to prepare hard water in your laboratory. Select a group

from the following groups of salts, any salt of which you may dissolve in

distilled water to obtain hard water.
(A) NaCl; NagSO,; KCl

(B) NaCl; CaCly; KCI

(C) CaCly; CaSOy MgSOy

(D) NaySO4; CaSOy4 MgSO4

34. hid % ITFAHR TAd T 45° o HIU G AMfdd Jehmr fmwor &1 92 Mg

SHIRTT | gada Hio1, Fid B0 R &d | ToRd W R0 § gH aret qiivash

e 1 9 fafEe |

Trace the path of a ray of light incident at an angle of 45° on a

rectangular glass slab. Write the measure of the angle of refraction, the

angle of emergence and the lateral displacement suffered by the ray as it

passes through the slab.

35. (A) I ey Uit o & ffarfaa 3t wuremt & Jent fr ford fomm
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(A) If you are asked to report your observations about the fouowing
two properties of acetic acid, what would you report ?

(1) Odour
(11))  Effect on litmus

(B) If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.
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You have to perform the experiment, “To identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.
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